Math 206 Section A
Test 1
75 points

Name: SO l\l b (248

Show all your work to receive full credit for a problem.

There are eight questions. Questions are printed on both sides of a page.

1. (10 points) Let z? + y> = 9.

(a) Describe or sketch the set of points in R? that satisfy the above given equation.
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(b) Write the given equation in spherical coordinates.
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(c) Is the point (0,—3,5) on the surface represented by the given equation? Explain.
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(d) Give cylindrical coordinates of the point (0, —3, 5).
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2. (8 points) Describe the curve in which the two surfaces z = 6 — 22 — y? and z = 2° + ?
intersect. Write a parametrization for this curve.
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